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Add 1s to any number (related facts)

Add three 1-digit numbers

Add across a 10

Add multiples of 10

Add 10s to any number

Add two 2-digit numbers (not across a ten)
Add two 2-digit numbers (across a ten)

Missing numbers




Progression of skills

Key representations

Add ones to any number
(related facts)

Make links to known facts.

| know that ...and ... = ...

sO..and..=...

O | [00]IO] | 10/0]00||O]

O | |100|O] | [OO[00|O

O OO0 e ele)e]

0@ |DO[0e] [DO[00[0e
0@ 000 000010 e

... morethan ...is ...
SO ... more than ... is ...

+1 +1

|
| I | | L I I I
0 1 2 3 4 5 6 7 8 9

+1 +1

— T 1T 1T 111
20 21 22 23 24 25 26 27 28 29

What do you notice?
Can you continue the

pattern?
5+2=7
154+ 2=17
25+ 2=27...

Add three 1-digit numbers

Prompt children to
understand that addition
can be done in any order
and to make links to known
facts.

..and ... are a bond to 10

104+ ..=.. .
O0,00‘O
olelelel )
00000 ooo
000

==

Double ... + ... = ...

What do you notice?
Which addition is the
easiest to calculate?

8+9+1=
8+1+9=
9+1+8=




Add across a 10 ... can be partitioned into ... and ... ladd ... togetto ... then |l add ... 8+5=13
28+ 5=233
Partition the number being 00000 eee 00 ODO"OOO O0I00000D|oee
added to make a full ten. 0000e olele)e]e]ele]els)e](elelel X .
8 + K”YF_“\ 28 + ::}{:ﬁﬁiﬁ
.;r-]lll'\g'lfééllﬂl:l]lllzla 3 4 5 & 7 B 9 10 11 12 13
2 I COYS
24 25 25 27 23 29 30 31 32 33
Add multiples of 10 .. ONes + ... ones = ... ones What is the same?
50 ...tens + ...tens = ... tens What is different?
Make links to known facts
within ten. == S+ S —— ﬁ ———
o 1 2 7 8 10
34+42=5
+ 30+20=50 ——1 m [ I : I,
EIII 10 2ICI 30 40 50 50 ?ID BIU SIU lLliﬂ 0 | 30
Add 10s to any number .. tens + ... tens = ... tens Toadd ... needtoadd 10 | | knowthat...and ... =
..tens and ... ones = ... ... times. sO..and .. =
Make links to known facts. Talslals[s]2 2] =
n:zrjza '] 2sj:5:zr zsiza:au 30+ 20=50
+ MFEJ‘IH@!&‘K‘H !E139_ID 34+20=54
.. 41 | 42 | 43 |44 | 45 46 47 | 48 49 | SO
.. §1 |52 | 53 |54 | 55 |56 |57 | S8 | 50 | 6O




Add 2-digit numbers ...ones + ...ones = ... ones 3 ones + 1 one = 4 ones
(not across a ten) ... tens + ... tens = ... tens . 4 tens + 2 tens = 6 tens
ens | Ones| . B
Lining up ones and tens in e ww otens +4ones =04
columns will support with RESIERSEEEE
later written methods. T | g e e !
T a3 | 2
Add 2-digit numbers There are .... ones, so | do/do not need to make an exchange.
(across a ten) .
...ones = ...ten and ... ones
Begin to exchange 10 ones 3
for 1 ten. | : as | 37 e e
v [ T
TErTT  manam oo 5 ones + 7 ones = 12 ones
e —— | — | O . 12 ones = 1 ten and 2 ones
s | aavt TS | ae 4 tens + 3 tens + 1 ten = 8 tens
- * — ! 8 tensand 2 ones = 82
Missing numbers How many more do you If ...isa wholeand ...isa ... can be partitioned into ...
need to make ...? part, then ... is the other and ...
Solve missing number part. 10+8=12+
problems and use the 090000 oc0O0O0O
inverse to check. 6+ =10 +3 =7 00000 o0000
oeeee [@e
10 — =6 7—-3= 000
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Subtract 1s from any number (related facts)
Subtract across a 10

Subtract multiples of 10

Subtract 10s from any number

Subtract two 2-digit numbers (not across a ten)
Subtract two 2-digit numbers (across a ten)

Missing numbers




Progression of skills

Key representations

Subtract ones from any
number
(related facts)

Make links to known facts.

| know that ... minus ... = ...

...less than ... is ...

What do you notice?

Subtract across a 10

Partition the number being
subtracted to bridge
through a ten.

SO ... Minus ... = ... SO ... less than ... is ... Can you continue the
NV pattern?
) Q0|0 OO0 OlIO| "+t 8—3 =5
O | Q9|0 | [©0)00|C © 12 3 45 6 7 8 10
oN OO|0OR| [OO00|OR 18—3 =15
on| oojos |oojoolons|| FH—+—+—+—++—+1+1- 28—3=125
o] oo’ [0o|oo|oR|] 20 21 22 23 24 25 26 27 28 29 30
... can be partitioned into ... and ... Make links with related facts.
0000 0NN ODOOO"ODOOOOOOOO@@@
pleJeININ] 0000000000000V
13 - I 2 . O

0 11 12 13
-2 -3

1 1 1 1 1 -
I 11 1T 1T 1T 1T 711

23 24 25 26 27 28 29 30 31 32 33




Subtract multiples of 10 ...0Nes — ... ones = ... ones What is the same? ~
S0 ...tens — ...tens = ... tens What is different?
Make links to known facts 50
within ten. . 2 20
C N Y /
i m ———— z
o 1 2 4 & 7 8 9 10 |
2 ?

5—-2=3 ||m|||| il

| 1
Tt 1Tt 1t 1 1 >0

50—20=30 0O 10 20 30 40 50 60 70 80 90 100 | ¥
Subtract 10s from any ... tens — ... tens = ... tens To subtract ... | need to | know that ... minus ... = ...
number ..tensand ...ones =... subtract 10 ... times. SO ... Minus ... = ...
Make links to known facts. T213lals]sl71elslm
11 |12 |13 |14 |15 |16 | 17 | 1B | 15 | 2D
21 | 22|23 | 24|25 |26 | 27 | 28 | 29 | 30 50 — 20 = 30
31 32|33 34| 35| 36 37 (38|39 | 40 54 - 20 = 34
- . 41 42 | 43 44 | 45 |46 47 | 48 | 49 | 5D
- . 51 | 52 | 53 @ 55 | 56 | 57 | 58 | 59 | 6D







